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#h A EA EI1H] | 2] | 3 | F4H | & 3 | F1H | F2H) | $E3H | F4H | & F FI1H] | 24 | $E3H | 4 | & F
FhEARR 4820H| 78208|108208| 18208 48208| 78208(108208| 18208 48208| 78208(108208| 18208
PTALE 4,000 4,000 4,000 4,000 4,000 4,000
EERE 1,600 1,600 1,600 1,600 1,600 1,600
ST EHRIESE 800 800 800 800 800 800
FEE X 34,870 34870 17,370 17370 | 26,670 26,670
BEERITIELE 60,000 60,000 | 60,000 60,000
RESE 5,000 5,000
R E NG (A) 101,270 101,270 | 83,770 83,770 | 38,070 38,070
BARR—YiRE 1,930 1,930 1,930 1,930 1,930 1,930
o 5—HE(B)
& EA+B) 103,200 103,200 | 85,700 85,700 | 40,000 40,000
EEFIR 190 £ HEFIR 190 £ EFIR 190
FERWBEA-IFX) 1,320 FEER{BEAN-IFRX) 1,320 FERWBEA-IFX) 2,500
XIERAERIEGE 1,750 XIERAERIEGE 1,750 XIERAERIEHE 1,750
X BN EEE 5,000 BN EEE 5,000 BN EEE 4500
FEEDHER MNERREES 1,000 ANEHEES 1,000 ANEHES 1,000
Classi 4,000 Classi 4,000 Classi 4,000
FUhL, REREEE 3,000 HBHZETAE 4,000 EHZETAE 3,000
FTF ﬁx/-l-i’— 1,000 KB RE 800 KB RE 1,500
FHEEGES 5210 (NUPFN 2,100 KyhL 1,100
Effr-rjcﬂ:ﬁﬂﬁ’\?ﬂé 120 EMUEESR SRS 70 EMUEESR SRS 70
BAOyh— 11,100 BIEE 600 FILINLAE 8,500
BIEE 600 %‘E = 540 EEIRSHER 3,000
’*E & 580 & &t 21,370 BIEE 1,000
& &t 34,870 oy 4,000 ’*E & 560
=5l#uUREE 17,370 & &t 32,670
o e 6,000
E5l#uUREE 26,670
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